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) The medicine that | gave you yesterday should three times a day.
(A) take (B) totake (C) betaking (D) be taken

) The birth rate has been falling sharply in our country the past twenty years.
(A) after (B) since (C) for (D) about

) Not only should we participate in international activities, show our cultural characteristics.
(A) but we should (B) but we should also (C) we but also should (D) but also should

) , we can travel back and forth between the south and north of Taiwan in half a day.

(A) Taken the High-Speed Rail system
(B) With the High-Speed Rail system
(C) Because the High-Speed Rail system
(D) According the High-Speed Rail system
) Steve Jobs likedto __ radios and televisions in the garage of his family when he was little.
(A) take apart
(B) put down
(C) give off
(D) take sides
) This cake does not contain any preservativesand
(A) symptoms
(B) additives
(C) intake
(D) antibiotics
) He  earlier last night so he can concentrate on today’s work.
(A) should have slept
(B) should sleep
(C) would be sleeping
(D) like sleeping
) He believes that he will get away from the punishment if nobody __the truth.
(A) told
(B) is telling
(C) had told
(D) tells
) Let’s choose the staff member __ the most valuable worker award. Seal the name in an envelope and bring it to Mr. Wang.
One winner and one runner-up from our staff of sixty will be chosen.
(A) who he or she deserves
(B) who deserves
(C) that it deserves
(D) who they deserve

)

Moving Expenses

You can be reimbursed for your expenses of moving to a new home only if your new home is at least 50 miles away from
your former home. In addition, expenses are limited to the costs of moving your household goods and personal items from
your former home to your new home. Meals, pre-move house-hunting expenses, and temporary-quarters expenses are no
longer reimbursable.

Which of the following will be reimbursed?
(A) Shipping household goods

(B) Lunch for the movers

(C) Gas used looking for a house

(D) Hotel expenses

) Piles of trash and garbage were perceived bothas _ to public health and as public eyesores, and the piles were becoming
larger and more prevalent as urban areas increased in population and density.
(A) memoirs
(B) menaces
(C) meteors
(D) miracles
) we had checked the figures, the supervisor found a mistake.
(A) Unless (B) However
(C) Since (D) Even though
) The most common reason for Sick Building Syndrome, a medical condition that has been blamed on poor indoor air quality, is
the _ opening of businesses. When a building opens too early, paint fumes and cleaning products don’t have enough time
to disperse. These fumes can affect customers or clients, and particularly building staff.
(A) premeditated (B) premature
(C) premium (D) prevented
) The secretary _ a letter when the computer crashed.
(A) composed (B) is composing

(C) was composing (D) composes
BI3H HESH
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Reading Comprehension

How do you react to the taste of different foods, like coffee or lemon? Do they have a flavor that you like? Or do they taste very strong
to you? Why do people react differently to different flavors?

We all know that different people have different food preferences. Researchers have discovered some reasons for these differences.
Your culture and your life experience are partly responsible for your preference for certain foods. Your food preferences are also partly
genetic. (Your genetic preferences are the ones that you were born with.) In order to discover people’s genetic preferences, researchers use
a chemical called PROP. People taste it and respond to the taste. To some people, PROP has no flavor. The researchers classify these people
as “nontasters.” To other people, the flavor of PROP is a little bitter, or sharp. These people are “tasters.” Then there are people who can’t
stand the flavor of PROP. They find it to be unbearably bitter. These people are the “supertasters.” Tasters have more taste buds on their
tongues than nontasters do, and supertasters have more taste buds than tasters do. This explains why supertasters are more sensitive to
PROP and to the flavors in certain foods. So if you think the flavors in coffee, grapefruit juice, and broccoli are very strong, you may be a
“supertaster.”

39 ( B ) The main idea of the reading is that
(A) there are people who like different foods.
(B) there are cultural and genetic reasons for the differences in people’s food preferences
(C) some foods have a very strong flavor.
(D) PROPs can be used to identify different types of tastes.
40 ( B ) Why do researchers use PROP?
(A) because it has no flavor
(B) to find out the responses to foods people were born with
(C) to discover the flavors in certain foods
(D) because people like its flavor
41 ( D ) Afood that is bitter has
(A) no flavor (B) little flavor (C) a coffee flavor (D) a sharp flavor
42 ( A ) Peoplewho _are classified as supertasters.
(A) can’t stand the flavor of PROP
(B) think that PROP has no flavor
(C) think that PROP tastes a little bitter
(D) like bitter flavors
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